Common Pre-Board Examination Chandigarh Region (2020 - 21)
Class : XII
Subject: Computer Science (083)
MARKING SCHEME

	Q.No.
	Part-A 
	Marks

	1
	c)  **  
	1

	2
	Data={ ‘UP’ : ‘Lucknow’ , ‘MP’ : ‘Bhopal’ , ‘AP’: ‘Hyderabad’ }
Half Mark should be given for partial correct answer
	1

	3
	 (d) SELECT
	1

	4
	Domain for Gender Column:  Male, Female, Third Gender
or 
Domain for Gender Column:  Boy, Girl, Third Gender
Half Mark should be given for partial correct answer
	1

	5
	print( S[: : -2] )  # Output:  ‘10MX’
print(S[-4 : :])    #Output:   ‘2021’
Half mark for each correct output
	1

	6
	print(-7//2)         #Output:  -4
print(3**2**3)   #Output: 6561
Half mark for each correct output
	1

	7
	FTP  (File Transfer Protocol)
	1

	8
	[10,20,30, 10,20,30]
	1

	9
	dump( )
	1

	10
	Stack Application: Postfix Expression Evaluation or Infix to Postfix Conversion
OR Any other correct application of stack should also awarded marks

	1

	11
	HAVING
	1

	12
	Twisted Pair Cable , Coaxial Cable, Fiber Optic Cable
	1

	13
	yes,
def fun( ):
      c=a+b
      d=a-b
      return c,d
i,j=def fun( )

	1

	14
	a )  STAR  b) BUS
Half mark for each correct topology
	1

	15
	A table can have more than one foreign key and can store duplicate values. TRUE
	1

	16
	print(B+A)  #Line-4
	1

	17
	 Identity Theft
	1

	18
	 NOT NULL 
	1

	19
	Plagiarism 
	1

	20
	ALTER TABLE
	1

	21
	Which is TRUE statement?
c) Strings , List, Tuple are Immutable, Mutable , Immutable data-types respectively
	1

	
	Section-II
Both the Case study based questions are compulsory. Attempt any 4 sub parts from each question. Each question carries 1 mark
	

	22
	
	

	(i)
	cardinality:8 degree: 6       Half mark for each correct answer
	1

	(ii)
	 SELECT NAME FROM PATIENT WHERE NAME LIKE '%A';
	1

	(iii)
	 Select * From Patient Where Department='Ortho' Or Department='Surgery';
                                     or 
Select * From Patient Where Department In ('Ortho' , 'Surgery');
one  mark for any correct answer
	1

	(iv)
	 SELECT MIN(CHARGES) FROM PATIENT GROUP BY DEPARTMENT; 
Half mark for each correct answer 
	1

	(v)
	NAME    CHARGES*AGE
ZEBA      6400
Half mark for each correct value
	1

	23
	
	

	(i)
	import csv
	1

	(ii)
	writer 
	1

	(iii)
	“r”
	1

	(iv)
	reader
	1

	(v)
	[102,'sham',20000]
	1

	
	Part-B Section -1
	

	24
	Briefly explain any two advantages of using functions?
1. Function reduces the program complexity as it divides the whole program into subparts.
2. Programs are more manageable by functions.
3. Function implements reusability as a function can be called any number of times
1 mark for each correct Advantage
OR
A list name L contains following data 10,20,30,40,50. What following statements will produce:
print(L[∷-1]) # Output [50,40,30,20,10]
print(L.pop())# output 50
1 mark for each correct Output 
	2

	25
	How Having clause is different from Where clause in SQL?
	WHERE Clause
	HAVING cluase

	1. It restricts row in the output of SELECT query
	1. It restricts group in the output of SELECT query

	2. It can be used without GROUP BY clause
	. It can’t be used without GROUP BY clause



1 mark for each correct difference ((Marks should also be awarded if student write definition of  WHERE or HAVING)
	2

	26
	
	Bridge 
	Router

	Bridge connects two LANs if they use same protocol.  
	Router connects two LANs even if they don’t  use same protocol

	2. Bridge works on MAC address
	Router work on IP address.


1 mark for each correct difference (Marks should also be awarded if student write definition of  Bridge or Router)
Or
Phishing: Phishing is a cybercrime in which a target or targets are contacted by email, telephone or text message by someone posing as a legitimate institution to lure individuals into providing sensitive data such as personally identifiable information, banking and credit card details, and passwords.
Trojan Horse: A Trojan horse, or Trojan, is a type of malicious code or software that looks legitimate but can take control of your computer. A Trojan is designed to damage, disrupt, steal, or in general inflict some other harmful action on your data or network.
1 mark for each correct definition / explanation 
	2

	27
	 a) WLL    : Wireless Local Loop 
b) Wi-Fi  : Wireless Fidelity 
c) POP3  : Post Office Protocol 3 
d) IPR : Intellectual Property Right 
Half mark for each correct full form
	2

	28
	
	Primary Key 
	Unique 

	A table can have only one Primary key constraint
	A table can have more than one Unique Constraint

	Primary Key column can’t accept NULL values.
	Unique constraint column can accept NULL values.


1 mark for each correct difference (Marks should also be awarded if student write definition of  Primary Key or Unique )
	2

	29
	Rewrite following program after removing all errors. (underline each correction)
name=input(“Enter name ”)
mob=int(input(“Enter mobile no”))
if name= =”Ram”:
    print(“Mobile number “,mob)
elif mob>9999999999:
    print(“Wrong Mobile Number “)
else :
    print(“Correct Mobile number “, mob)
Half mark for each correction (Maximum 4 corrections)
	2

	30
	a) DELETE    FROM STUDENT WHERE FEES IS NULL;

b) SELECT  * FROM EMPLOYEE WHERE DEPTNO=10 OR NAME  LIKE ’A%’;
Half mark for each correction
	2

	31
	Print(“Welcome”)
k= -5
While k> -20:
   print(k)
   k=k-5
print(“Good Bye”)
             2 marks for correct answer or 1 mark for partial correct answer
	2

	32
	$TyoNo#
2 marks for correct answer 1 mark for partial correct answer
	2

	33
	variable Trick used in the code at the time when value of Count is: 3.
Minimum value of Trick=0
Maximum value of Trick=2
Options:-
(i) 10EXCEL# 10EXCEL# 8OK#                 
(iii) 10EXCEL# 9GOOD# 10EXCEL#       
Half mark for each correct answer. 
	2




	
	Section-II
	

	34
	(Using of any correct code giving the same result is also accepted
def ShiftHalf(Arr):
    k=len(Arr)//2
    for i in range(len(Arr)//2):
        Arr[i],Arr[k]=Arr[k],Arr[i]
        k+=1
    print(Arr)
3 marks for correct answer and 1.5 mark for partial correct answer
	3

	35
	Write a function in Python that print and counts the number of words start with letter ‘M’ or ‘m’ present in a text file “STORY.TXT”. counter=0
(Using of any correct code giving the same result is also accepted.) 
file1=open("story.txt","r") 
data=file1.read()
words=data.split()
counter=0
[bookmark: _heading=h.gjdgxs]for k in words:                  
    if k[0] in 'mM':
        counter+=1
        print(k)
print("total words start with M are : ",counter)
file1.close()
3 marks for correct answer and 1.5 mark for partial correct answer
OR
Write a function in Python that print and counts the number of lines start with letter ‘A’ or ‘a’ present in a text file “CONTENT.TXT”. 

file1=open("content.txt","r") 
counter=0
data=file1.readlines()
for k in data:                  
    if k[0] in 'Aa':
        counter+=1
        print(k)
print("total lines starts with A are : ",counter)
file1.close()     
3 marks for correct answer and 1.5 mark for partial correct answer
	3

	36
	(i)  GENDER  COUNT(*)
M             4
F              2
(ii)  CNAME         MINBALANCE
S K YADAV    1000
(iii) ACCOUNTTYPE    BALANCE
SAVING                  75000
CURRENT              68000
1 marks for each correct answer 
	3

	37
	Write a function in Python Pop(Student) to implement Pop operation of stack where Student is a List containing details of students as given below:  StudentRollno, StudentName, StudentMarks.
(Using of any correct code giving the same result is also accepted.) 
def Pop(Student):
    if student==[]:
        print("Underflow")
    else:
        print("Record is poped ",Student.pop())
OR

Write a function in Python Insert(Client) to implement insert operation of Queue where Client is a List containing details of customers as given below:  CustomerID, CustomerName 
def Insert(Client):
    CustomerID=int(input("Enter CustomerID"))
    Customername=input("Enter Customer name ")
    record=( CustomerID, Customername)
    Client.append(record)
    rear=len(Client)-1
    print(record, "is inserted at rear ",rear)

3 marks for correct answer and 1.5 mark for partial correct answer
	3




	
	Section-III
	

	38
	a) Select * From House Where Location=’Raipur’ and Unit_Price>30000;
b) Select Location, Quantity*Unit_Price as “GrossAmount” From House Where Dcode=2;
c)  Select HID, Location from House order by Unit_Price Desc;
d)  Select Location, Avg(Unit_Price) from House Group By Location;	 	                                     1 
e) Select Location, Dname from House, Developer 
Where House.Dcode=Developer.Dcode and Unit_Price>250000;

1 mark for each correct answer
	5

	39
	A binary file FLIGHT.DAT has structure [FlightCode, Source, Destination, Rent]
 Write a function SearchFlight(Destination) which accept Destination as parameter to print and count number of flights from FLIGHT.DAT whose Destination is given as parameter.
(Using of any correct code giving the same result is also accepted.) 
import pickle as pk
def SearchFlight(destination):
    counter=0
    file=open("Flight.dat","rb")
    try:
        while True:
            rec=pk.load(file)
            if rec[3]==destination:
                print(rec)   
                counter+=1

    except EOFError:     
        print("total flights with destination",counter)
        file1.close()
5 marks for correct answer and 2.5 marks for partial correct answer

OR

A binary file STUDENT.DAT has structure [AdmissionNo, Name, Class, Result]
 Write a function DeleteRecord() which remove all student records from STUDENT.DAT whose Result is “Failed”.
import os
import pickle as pk

def DeleteRecord():
    file1=open("student.dat","rb")
    file2=open("temp.dat","wb")
    try:
        while True:
            rec=pk.load(file1)
            if rec[3]=='Failed':
                print("Details of student ")
                print(rec)   
                print("!!Record deleted !!")
            else:
                pk.dump(rec,file2)
        
    except EOFError:     
        file1.close()
        file2.close()
        os.remove("d:\\student.dat")                    
        #deleting file student.dat
        os.rename("d:\\temp.dat","d:\\student.dat")        
       #Changing name of temp.dat to student.dat
5 marks for correct answer and 2.5 marks for partial correct answer
	5

	 40
	
a) Server should be placed in Engineering Building as It has most number of computers.
b) 1 mark for correct Layout	using 80:20 Rule
c) Router	
d) Satellite Link  or Microwave  
e) Hub / Switch  must be install in each building for interconnection of computers

1 mark for each correct answer
	5


**********END OF MARKING SCHEME***********
[bookmark: _GoBack]
